RAIGANJ UNIVERSITY College Para, Raiganj



NOTICE INVITING QUOTATION

Tender Ref.:

R-121 /2028

Dated. 06.08.2025

Sealed Quotation on company pad as per format given in annexure – A are hereby invited and will be received by the Engineering Section (Civil) of Raiganj University in the Tender Box kept in his office till the date and up to the time specified herein.

1	Name of the work	Repair & Renovation of Chemical Biology Laboratory at Sericulture Department in the campus of Raiganj University
2	Name and Address of the office	Raiganj University, College Para, Raiganj, Uttar Dinajpur,733134
3	Quotationers who are eligible to submit quotation	Reputed, resourceful, experienced & bona-fide vendor.
4.	Minimum Experience	At least one project work completion in any Govt. / Semi Govt. / Govt. Aided Organization.
5.	Date of starting purchase of quotation paper	06.08.2025
6.	Last date of submitting quotation papers	13.08.2025
7.	Opening of Quotation	To be notified later.
8.	Documents to be submitted along with the application	 Copy of Valid Trade License. Copy of Profession Tax Certificate with Current Challan. Copy of PAN Card. Copy of GST Certificate with Latest Return. Copy of credential on 50% of the estimated amount. Copy of Annexure-A & B.
9.	Quotation papers	On Company's pad as per format given in annexure.
10.	Security Deposit	3% of the Estimated Value.

Terms & Condition:

- 1. The accepting authority reserves the right to reject any or all the quotations without assigning any reason thereof.
- 2. The participating bidders are required to quote their rate in prescribed format in their letter pad.
- 3. The rate should be quoted in percentage basis.
- 4. No conditional / incomplete documents will be accepted under any circumstances.
- 5. The agency should start the work immediately and complete the above mentioned job within 20 (Twenty) days from the date of issuing of this work order.
- 6. Payment to the agency shall be made as per availability of fund after completing the job with necessary certification of Engineer- in- charge.
- 7. Statutory deduction as applicable shall be made from the bill of the agency.
- 8. University will award the Contract to the bidder whose quotation has been determined to be substantially responsive both technically and commercially. University also reserves the right to reject any or all the tenders, wholly or partially, without assigning any reason thereof.

Registrar Raiganj University

DR. DURLAV SARKAR Registrar Raiganj University Raiganj, Uttar Dinalpur Most Bengal, Pin-733134

Percentage Rate BOQ

Annexure-A

Tender Inviting Authority: Raiganj University.

Name of Work: Repair & Renovation of Chemical Biology Laboratory at Sericulture Department in the campus of Raiganj

NIQ No: R-121/2025 Dated. 04.08.2025

Name of the Bidder/ Bidding Firm / Company:

Sl. No.	Item Description	Quantity	Units	Estimated Rate in (`)	TOTAL AMOUNT With Taxes	
1	Repair & Renovation of Chemical Biology Laboratory at Sericulture Department in the campus of Raiganj University.	1	Lot	84,150.00	84,150.0	
		Excess (+)	%			
		Less (-)	%			
7	Quoted Rate in Figures					

quotes note in rigures .

Quoted Rate in Words:

Signature of Bidder/Bidding Firm/Company

UNDERTAKING Annexure-B

I/W	Ve		of	hereby declare that:-
1				of acceptance of our tender. I/We will Work at the as mentioned in the Terms & Conditions.
2	I/We have ca			od the terms and conditions of the tender and we do as per the terms and conditions.
3	Certified th	at.		
			y to refer to the	he person signing the tender is a arbitration disputes concerning the business of the I power of attorney.
		*		
Dat	ed:			
Ful	l address :			Signature and name of the Tenderer

Proposed Estimate for Repair & Renovation of Chemical Biology Laboratory at Sericulture Dept. in the campus of Raiganj University, Raiganj, Uttar Dinajpur as per PWD S.O.R (Incorporation of GST Act, 2017 & All addenda & Corrigenda of SOR) w.e.f 01/12/2017

SI. no.	Ref.	Description of Item	No	L(m)	B (m)	H (m)	Qtn.	Rate	Amount
				·	!				
1	P-246, It- 17	Supplying, fitting & fixing of Aluminium fixed partion wall of all aluminium sections viz top, bottom and side member, intermediate member, glazing clip made of Aluminium Alloy Extrusions conforming to IS: 733-1983 and IS: 1285-1975, annodized conforming to IS:1868-1983, fitted with all other accessories viz. EPDM gusket, cleat, angle screws etc. including labour charges for fitting and fixing of aluminium fixed partition wall with glass / panel board all complete as per architectural drawings and direction of Engineer-in-charge. (Excluding cost of glass/ panel board, 10-12 Micron thickness Annodizing film. Natural white.							
		b) For unsupported length of vertical member above 1.50m. height of both ends of vertical member restrained but panel above 0.90 sqm							
		Chemical Biology Lab	1	2.05		2.55	5.23		
		Deduction for Al-Sliding Door	-1	0.95		1.95	-1.86		
		On a identity as a saint of Al Constitute for			TOTA	AL =	3.37		
		Considering weight of Al-Sections for Partition Wall @ 5.0 Kg per Sqm.			TOTA	AL =	16.85	387.00/Kg	6520.95
	P-246, It- 16	Supplying, fitting & fixing of partly glazed partly panelled or fully glazed single side frame), shutter(top rail, bottom rail, lock rail, door vertical), glazing clip made of Aluminium Alloy Extrusions conforming to IS: 733-1983 and IS: 1285- 1975, annodized conforming to IS:1868-1983, fitted with all other accessories viz. EPDM gusket, cleat, angle screws etc. including labour charges for fitting and fixing of aluminium door with door spring,/aluminium hinges, glass / Panel board all complete as per architectural drawings and direction of Engineer-in-charge. Chemical Biology Lab							
		D1	1	0.95		1.95	1.86		
		Considering weight of Aluminium door @ 9.0 Kg per Sqm			тоти	AL =	16.74	385.00/kg	6444.9
3	P-198, lt- 5	Rendering the Surface of walls and ceiling with White Cement base WATER PROOF wall putty of approved make & brand.(1.5 mm thick) Ground Floor							
	1	Chemical Biology Lab							
			1	2.3		2.55	5.87		
		2 **	2	1.97	4.07	2.55	10.05		
		Ceiling	1	2.3	1.97 1.95		4.54 4		
			1	1.85	1.67		3.09		
					-	0.55		 	
			1	2.68		2.55	6.84		

SI. no.	Ref.	Description of Item	No	L(m)	B (m)	H (m)	Qtn.	Rate	Amount
			1	2.68	1.97	<u> </u>	5.28	422.00/2	F442.42
					тот	AL =	44.61	122.00/m2	5442.42
4	P-195, lt- 7	Applying Interior grade Acrylic Primer of approved quality and brand on plastered or cencrete surface old or new surface to receive Distemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. (In Ground Floor) (b) Two Coats i) Water based interior grade Acrylic Primer Chemical Biology Lab					44.61	44.20/m2	1971.762
				1				1	
5	P-196,lt- 10	Acrylic Distemper to interior wall, ceiling with a coat of solvent based interior grade acrylic primer (as per manufacturer's specification) including cleaning and smoothning of surface.		T		ı			
-		Ground Floor Two Coats			1		44.61	70.00/m2	3122.70
		1,400 Coats			1		44.0 I	7 0.00/1112	3122.70
6	P-200,lt- 1	(b)Priming one coat on timber or plastered surface with synthetic oilbound primer of approved quality including smoothening surface by sand papering etc. Ground Floor Chemical Biology Lab	4	0.95		1.95	7.41	38.00/m2	281.58
				1				1	
7	P-200,It- 2	(A)Painting with best quality synthetic enamel paint of approved make and brandif necessary. (a) On timber or plastered surface: With super gloss (hi-gloss). (iv) Two coats (with any shade except white). Qtty same as priming					7.41	81.00/m2	600.21
8	P-36,lt- 23 (3rd Corrigen dum)	Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tiles using cement @ 2.91Kg./sqM or using polymerised adhesive (6 mm thick layer applied directly over finished artificial stone floor/Mosaic etc without any backing course) laid after application slurry using 1.75 Kg of cement per sqM below mortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / epoxy grout materials of approved make as directed and removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finish complete including the cost of materials, labour and all other incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor)							

SI. no.	Ref.	Description of Item	No	L(m)	B (m)	H (m)	Qtn.	Rate	Amount
		(I) With application slurry @1.75 kg/ Sq.m, 20 mm sand cement mortar (1:4) & 2 mm thick cement slurry at back side of tiles, 0.2 kg/ Sq.m white cement for joint filling with pigment.							
		(A) Deep Colour & White							
		Ground Floor Chemical Biology Laboratory	1	13.3	2.05		27.27	1695.00/m2	46222.65
		Total Cost							70607.17
		GST @18%							12709.29
		Cost of civil works excluding labour welfare cess							83316.46
		Labour welfare cess @1%							833.16
		Cost of civil works including labour welfare cess							84149.63
		Contingency @3% of cost of civil works							2499.49
							GRA	AND TOTAL =	86649.12
		In Words	Rs. Eig	hty Six Th	ousand Si	x Hundre	d And Fou	rty Nine Only.	
ı									
						İ	ī	ı	